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Question No. 1 is objective type question. It consists of Section (A),
Section (B) and Section (C). Each section has 5 questions of 1 mark

each. Visually impaired students follow the instructions as given with
the questions.
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Question Nos. 2 to 6 are very short answer type questions. Each

question carries 2 marks. (Maximum word-limit of each answer is 30
words)
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Question Nos, 710 10 nre shorl answer type (uestions. ffach ques

carries 3 marks. (Maxinum word-limit of each answer is 50 words)
(v) W ERiE 1 A 14w enalta ue 8 yor Y T 4 AE grAfza
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Question Nos. 1110 14 are short answer type questions. Each guestion
carries 4 marks. (Maximum word-limit of cach answer is 75 words)
(v) W ®iE 15 T 16 Aebaelta e & | vm WA T 5 o avifd 7
(3T I 1 ifbreran EE-HE 700 W ¥)
Question Nos. 15 and 16 arclong answer type questions. Each question
carries 5 marks. (Maximum word-limit of each answer is /00 words)
(vi) SR i 17 T 18 Seisald T ¥ 1 wew T W6 st sfea &
(S TIR A Afuehad - 150 UL §)
Question Nos. 17 and 18 arc long answer type questions. Each question

carries 6 marks. (Maximum word-limit of each answer is /50 words)
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(wus-3r) wel fawed T fafae [1R5=5]
(Section-A) Choose and write the correct oﬁtion :
(i) i uedE g d
L3 1.50
(F) 2.82
(§) 242
(3) 2.89
Refractive index of glass is :
(@) 1.50
(b 2.82
() 242
(d) 2.89
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(iii)

()

(37 NaCl () Na,8O,
(®) KNO, . (3) NH,CI

Which of the followitly silts 1 acidic in nature?

(a)
(©)

fopeft @il & SiTel w1 O § 5567 STH % UiY, 453317%?11" 23 0%

KNO, (d) NH,CI

T 7769 W W T | 5% #eftst F - wefen e €0
(o7) = 3 oo el st afnfer s oo o
(D a’fﬁ%%mamﬁﬁrmgﬁqusﬁam

(@) T ¥ T sl W i Seum
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The number of organisms in a garden Were esfimated as' 5567

grasses, 453 shrubs, 23 trees and 7769 animals: The primary

productivity of this area will be nearly equal to2 -

biomass.of.all organisms of the garden

biotnass of all the plants of the garden.

* biomass of all the animals of the garden

biomass of only all the grasses

E'Erﬂlﬁ%':_ '
(37) He . (&TQ As
(@ Mg - | '._z_,_g_f;) Ag

Metalloid is :

(@)
(c)

He () As .
Mg (d) Ap
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Fossil fucls arc :

(@) coal, petroleum, natural gas

(b) biogas, wave ehergy; ﬁuclear energy
(c) tidal energy, hydel-powe;?énergy

(d) wind en.ergy,'geothennal energy

(Tve-7) fiaa @l &t yfd s

(Section-B) Fill in the blanks :

() AT v 1 TEERE G TR
The chemical formula of methanoic acid is

ity Tagm w1 81 wEE e ¥

- N i H*-’ H .
S unit of electric current is

(i) mmaﬁaﬁaﬁwmﬁmmmﬁ,

Enzymes amylase, trypsin and lipase are secreted by :

T T e WO H e arffe

The position of

(iv)

elcu;,:;:_m-- IS uncertain in periodic table.
(v) am mﬁmﬂ?mwmm—-‘%:

All organisms in the food chain are except the producer

[1x5=5]
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(%) ()
() RNA (@) umfem a1
(i) s Tdm - (h) Jfam
(iiiy G () Fey0,
(iv) S H S| WEHE - (d) W
(v) W - (9
(Section-C) Match the following :
(A) (B)
() RNA | _ (a) Ciwricacid
(it) Convex mirror - (b) Uracil
(iii) Lemon - (c) Fe 04
- (iv) Sl unit of heat - (d) Car -

(v) Magnetite - (e) Joule

TF-2 s o 3 Foreh a1 o fore fone s wfkafida die # 2 21

) How does the atomic radius change in a period of periadic table?

w3 Wifefm R R g2 2]
What is called Eco-system?

wya-4 T wrEfE bt § g agg veame ffae (2]

CH,COOH, C,HyBr
Identify and write the functional group from the following organic
compounds : - '
CH,COOH,Cjli,Br

T-5 SO g g ? 2]
What is thermal insulator material?
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What is called pollination?
arq &1 fa% gr weiid

FieTETze SoE A et = | ffuead
[1+1+1=3]
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Draw a diagram of Fahrenheit scale thermometer by showing lowest

and highest temperature on it.

Note : Visually impaired students will write the lowest and

highest value of temperature and one use of Fahrenheit

scale thermometer in place of diagram.

w7 § e fafon =6t yfwgn f6a gan 9t 8 2 wwem L [3]

How does the process of sex determination take place in human.?
Explain.

ST, T § 1.50 S o1t A7 e A dw e 1w F g
EI:‘TWWWI

Light enters from air to glass plate having 1.50 ref'racﬁvé.iﬁdeﬁ:.- Fmd

the speed of light in glass,

ﬁaﬂuﬁmwﬁuﬁﬁqmﬁ%mrﬁgm: (1x323]

() e

(i) "y ar
(i) Fﬁl‘f’rﬂ
Draw the symbols of the followi
OHOWINg components ‘ L
() Voltmeter f | related to electric circuit -

(if) Junction wire

(iil) Resistance

\
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What a;re dominant and recessive characters? Explain with example.
HYqr
OR
TR o SEH 1§ ? ISR I TR BT |

What are adaptation and fossil? Explain with exaniple.

W12 fertores ol o1 Tt T e g Tt 39 S & Ivam fafag)  [2+2=4)
Write the chemical name and formula of bleaching powder and any
two uses of it.
3rerar
OR
uferet TehTeTer 1 IUPAC A1 4o 97 forae 3% ¢ 3t Syam fafag |
Write the IUPAC name and formula of rithyl alcohol and any two
uses of it. .- .

UeR-13 Wl U WA 9@ 2 aed Sl % AW 9 396 Th-US w1 fafEy ) [2+42=4)
Write the names of two vascular tissues found in plants and write one. -
function of each.

srerar
OR -
v o e § 2 5 Qo ffew
What is placenta? Write its two functions.
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(37) 39 @ T UEFHFAR A e

(&) anyfrr swmd arvl)l A g e ) e ferfeem, |

(&) anyyfrer swad wreofl A g1 aw syt ferfra
(3) U A & gt fa=m fafed

Atomic number of an element is 11 :
(@) Identify and writc name of this element.

(b) Write the group number of this element in modern periodic table.

(c) Write the period of this elemient in modern periodic table.

(d) Write electronic configuration of this element.

_ Heqr
OR

et 4 w4 =R fgermq P, Q, R,Saﬁﬁﬁﬁﬁwﬁa‘ﬁraﬁﬁa pH
O 13,7,2, 8 9w §TI $H YR W &a3C s F19-11 fremm—

(i) Y& T §

(i) 3R

(i) <9 i &

(fv) ¥odt e §

Sonakshi tested P, Q. R, S four solutions from universal indicator

and found pH values 13, 7, 2, 8 respectively, On this basis, tel] about

the solution which one is—
(/)  strong acid

(i) neutral

(iii) weak alkal;

(iv) strong alkalj

-6A
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() foega et 9 faga e # &1¢ < o= fafEe | [3+2=5]

(a) Write any three properties of magnet.

(b) Write any two differences between electric motor and electric

generator.

3reqr
OR

-

(37) forpa SUE0 ¥ WRiad 3T g F18 A gt fafay
(7) FemEd a9 few uw § F1E S s fafae

(a) Write any three safety measures while using electrical

appliances. https://www.cgboardonline.com

(b) Write any two differences between alternating current and

direct current.

W-16  (37) Tl du R wed ¥ 2 T R fafau
(&) <O A BIw g H ufenfya s " [2+1+42=5]
(@) What is called spherical mirror? Write its types.
(b) Define focal length of mirror.
arerar
OR

(&) yadien fHd wed € 7 79 g fafan)
(&) g9 F TS &Y i wifsa |

(a) What is called refractive index? Write its formuila. |

I(b) Define refraction of light.

S-6A | PT.O.
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nt aspects that need to take care of, for the

(@) What are the differe
health of pregnant women (any two)‘?

(b)) Drawaneatandc
of it | |
Note : Visually impﬁired stqdent's'_'-l-w_\i_lll dgg@:ribe different parts of
heart in place of the diagram;': 5 |
Hgar
OR .

(H}Wﬁmﬁwﬁﬂﬁﬁaﬁmﬁwﬁmﬁ

ﬁwmﬁﬁq(ﬁé’f)l

() aﬁﬂaﬂﬁmmwﬁamatﬂﬁﬁ%wmaﬁm
ﬁ‘?ﬂqy |

T q&mﬁﬁﬁmﬁﬁaﬁwwmm%%ﬁm

w‘?rmranhﬁﬁl

(a) Differentiate between processes of respiration in the presénce
and absence of oxygen (any two).

(b) Draw neat and clean dlagram ofinerve cell and labe] any fou
parts of it. | ' T

Note : Visually impaired students describe the different parts. nf
nerve cell in place of diagram.

5-6A

e,

lean dlagram of heart and label any four parts.__ ._

[2+4=6]
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() Warw fRA wed § 7 dare A s % w5 2y Furg fafa [3+3=6]
(a)  Write three differences between metal and non-metal on the
basis of physical propertics.
(6) What is Corrosion? Write any two methods to prevent corrosion.
3erar
OR
(37) @fs 7 evaww ¥ |t e fafag

(@) wishaar ot =t wftarm ferget T waifus aiFy ©& @ 998 59
|fea g =1 A fafau |

(a) Write three differences between mineral and ore.

(b) Define Activity Series and write the name of one most reactive

and one least reactive metal.
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